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else

{
vied = vd + 1; S/ vll=input[©:7]
vll = v183;

if ( w5 »>= @x1e )
v1l1l = (void **)viB3[0];
*((_BYTE *)v1il + v4) = v1@;
*((_BYTE #)vil + v4d + 1) = @;
}
if ( ++vB >=7 )
break;
v5 = v185;
v = v1e4;
¥
vl2 = 7i64;
while (1)
{
vl3 = inputl;
if ( max_len >= @x10 )
vl3 = (void **)inputl[e@];
vi4 = *(({_BYTE *)v13 + v12);
if (ve »>=v7 )

{ f/ v15=input[7:17]
sub_7FF6F5D1275@(v1G6, v5, v3, vlid);

¥

else

{
v1e7 = vb + 1;
vl5 = v186;

if (w7 »>= @x18 )

vl5 = (void **)vlv6[0];
*((_BYTE *)v15 + va) = vld;
*((_BYTE *)vl5 + v6 + 1) = @;
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32| std::istream::operator>>(std::cin, &v96);
33 V16 = 8.0;
4 w17 = 0.0;
35 VIS = 0.0;

36| w19 = (double)((int)voe / 12379) + 1.0;
37, do
38l {

39 vl7 = v17 + *(double *)sub_7FF6F5D11360(v18, v19).m128_ubd * ©.001;

0 v1l8 = v18 + 0.001;

1| 3

72| while ( v18 <= 100.0 );

23| w20 = (int)(v17 + v17 + 3.8@);

24 v21 = 0.0;

35| w22 = (double}((int)voe % 12379) + 1.0;

6| do

27| {

28 vl6 = v16 + *(double *)sub_7FF6F5D11368(v21, v22).m128_ubd * 0.001;

39 v2l = v21 + 0.001;

10 3

11 while ( v21 <= 100.0 );

12| if ( v20 == dword_7FF6F5D17044 &8 (int)(v16 + vi6 + 3.@) == dword 7FF6F5D17048 )// BN EMFERI A 1T # i8 pi
13 // BEENBAERREEER
14 {
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tinclude <stdio.h>
tinclude <stdlib.h>
tinclude <math.h>

double ff(double a,double b){
double c=pow(a,b-1);
return c/exp(a);

int main()

{
int i=0;
while(1){

double v17=0.0;
double v18=0.0;
double v19=(double)i+1.0;
do{
v17=v17+ff(v18,v19)*0.001;
v18=v18+0.001;
}while(v18<=100.0);
double v20=(int)(v17+v17+3.0);
if(v20==0x13B03){
printf(“success!! %d\n",i);
break;
¥
else{
printf("no!! %d\n",1);
¥
i++;
¥
int j=0;
for(;j<12379;j++){
double v16=0.9;
double v21=0;
double v22=(double)j+1.0;
do{
v16=v16+ff(v21,v22)*0.001;
v21=v21+0.001;
}while(v21<=100.0);
if((int)(v16+v16+3.0)==0x5a2){
printf("success!! %d\n",3j);
break;
¥
else{
printf("ne!! %d\n",j);

printf("%d",1*12379+j);
return 0;
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{
v42 = v183;
if (w37 >= 8x1e )
v42 = v3§;
vad3 = (char *)v42 + v41 ¥ v39;
v44d = Block;
if ( v26 >= 8x1e )
vdd = v25;
*((_BYTE *)v44 + v4@) ~= *vd3; // SEidRfE
++v30;
++v4a;
vdl = v36;
v26 = v99;
v25 = (void **)Block[@];
¥
while ( v3io < v39 );
¥
for (1 =0i6d; 1 < 7; ++1 )
{
vd6 = Block;
if ( vZo »= 0x10 )
va6 = w25;
if ( *((_BYTE *)va6 + 1) I= *(( _BYTE *)&94 + i) )// HLH:
{
if ( v3iD »>= 0x10 )
{
v86 = wv3l;
if ( w30 + 1 »>= 0x1080 )
{
JL -
w71l = 0164;
do
{
v68 = (unsigned  int8)(v68 + 1);
v72 = *(_DWORD *)&v49[4 * vo8 + 8];
v69 = (unsigned  int8)(v72 + v69);
v/73 = *(_DWORD *)&v49[4 * voo + 8];
*( DWORD *)&v49[4 * v63 + 8] = v73;
*(_DWORD *)&v4A9[4 * w69 + 8] = v72;
*((_BYTE *)&v112 + v71++) ~= v49[4 * (unsigned _ int8)(v72 + v73) + 81;// 5=
ihile ( v71 < v70 );
¥

*(_DWORD *)v49 = v68;
*((_DWORD *)v49 + 1) = v69;
V94 = @x545314AA3FSED6B2i64;
LOWORD(v95) = @x6C6;

v/d = @;
for (7 = 0i64; 7 < 10; ++] )
{
if ( *((_BYTE *)&94 + j) != *((_BYTE *)&112 + j) )// tE:
exit(-v74);
+v74;
¥
v76 = sub_7FF6F5D123BO(std: :cout, "flag{");
v77 =
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inputl;
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first=[0x8,0x4d,0x59,0x6,0x73,0x2,0x40]

key="'9903819"

flag=""

for i in range(len(first)):
flag+=chr(ord(key[i])~first[i])

second=[0@xe0d,0x95,0xba,0x60,0xc9,0x66,0x2a,0x24,0xb2,0x36]

key_ pre=[0xb2,0xd6,0x8e,0x3f,0xaa,0x14,0x53,0x54,0xc6,0x6 ]

for i in range(len(second)):
flag+=chr(second[i]~key_pre[i])

print(flag)
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10 o LXKLLIIDdSL0_SLDLNESUNdr ,, 5 LU cCNdl_LMdLLSSCNdr 2, 5 LU 1dLloCdLlurscndgr22: D 1engunidL ) ;

17| vie = v3;

18] if ( v2 >= 9x200000 )

19 _cxa_throw_bad_array_new_length();

20| s = (void *)operator new[](v3 << 180);

21| memset(s, @, v1l0 << 18);

22| *((_DWORD *)s

23| + *(char *)std:: cxx1l::basic string<char,std::char traits<char>,std::allocator<char>>::operator[](a2, @)) = 1;
20, vi = 8;

25 for (1 =1; 1 < v1@; ++i )

26|

27 for (7 =@; 7 < 256; ++71 )

28 {

29 if ( j Y= *(char *)std::_ cxx11::basic_string<char,std: :char_traits<char>,std::allocator<char>>::operator[](a2, 1} )
30 ®((_DWORD *)s + 256 * i + i) = *((_DWORD *)s + 256 * vA + 1);

31 else

32 ((_DWORD *)s + 256 * i + §) = i + 1;

33 }

34 vd = *((_DHORD *)s

35 + 256 * v4

36 + *(char *)std::__cxx11::basic_string<char,std::char_traits<char>,std::allocator<char>>::operator[](a2, i));
37}

38 V7 = 0;

39 for (k= @; k < vy ++k )

40| {

21 v7 = *((_DWORD *)s

42 + 256 * v7

43 char_traits<char>,std::allocator<char>>::operator[]{al, k));
a1

45

46

a7
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